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@ Number of long pairs of electrons prasent
in XeF, molacula i3
(A) 5 B) 4
(C) 6 D) 3

3. hasbeenaccorded the honor

of the ‘Surya Kavi’ of Haryanvi music genres
Raagni and Saang
(A) Surdas
(B) Kurmadas

{C) Lakshmi Chand
(D) None of the above

1 1 1
3. Find the value of —+—+—...10 10 lerms.

2 3 6
5 -5
w3 (B) r}
1

iﬂlﬁ

4, _ wasihelastking of Tomara dynasty
who handed over the throne of Dedhi 1o his
son-in-law Prithviraj Chauhan.

{B) Mahipala
(D) Gopala

(D) Mone of these

(A) Vijayapala
(C) Anangapala

5. The Article of Indian Constitution which
provides for equal cpportunities for all the

people in public employment
(A) 16 By 17
c) 14 ) 15

6. Who won the Runners-up title of FIFA
Football World Cup 2018 ¥

(A) Russia
(B) France
(C) Croatia
(D) None of the above

7. 'Piliya’ will be sung during occasion of
{A) Birth (B) Marriaga
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X -

g 1PN} = 2% =1 Ig dlyig
all naturad numberg n “ﬂ:b

¥ K, (k @ N) for
(A) 5 -

k
8 o

(D) MNone of these

=3
icy 7

g, “Shalkh ::lullllmmnqha ! )
(A} Agroha {:;] l"S';"I::"m""
(C) Hisar (o) Th-ﬂl'lan'wnr
10, Inwhichiona ol the "

recording station is noj bcm ‘Sarthquake
(A) Kolkatia

B) Koda
{C) Puna wanad

D) Mumbaj
Following is not a par of Purman Spanm

{A) Acrosome

11.

(B) Mitochondria

(G) Axial filament (D} Antrum

12. Haryana recently celeb
foundation day, fiied be
(A) 42 By Sgo»
(C) 53" D)y 55
13. A number consists of three digits whose
sum I8 17. The middle one axceseds the
sum of the other two by 1. If the digits be
raversad, the numbar is diminlahed by 398,
then the number is
(A) 494 (B) 583
(C) 681 (D) 68z
14, is tha smallest and the fastest
Memary in computer.
(A) RAM (8) ROM
(C) Cache (D) Hard drive
15, is the first Indian wrestier 10
win Two Tedals at the Worid Wresting
Champlonships.
=L -1 (A) Vinay Phogal
[ (B) Sakshi Mallik
(C) Bajrang Punia
-t (D) Sushil Kumar
40 16, Find the missing terms
L b_b_bb_b_bbabb_
= baad
(A) aaabb :-g; .
:_g - (C) ababb
YT
e =Ll.1
ot
. B
" 1’ e ¥y
=L, Ual = of

42018 (5)
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Lo ety TV aro180 l
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" u-ko{H%;ﬂTz;;*'mﬁ;rﬂt. |
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o e 1 B N
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1. wﬂﬁﬂm'm Uil
o) T (@) wTEERITE
() ¥fiwg © w
12. mﬁmﬂﬁm____mﬂ
foram AT | -
) deal (8) sodf priets
(c) s3dl (D) ssdl W
13, i i i @ e & R dm 17 81 <2

v wren ) 261 & I R 1 v B afR

sl %1 gerz fam wno @ TeEn 396 w0 it
el &, # o
(A) 494 ®) s93 % &
21C) 681 AB) 892 PR LT
14, FgE  wa o i
il &) R 1u’¢-%1
(A) RAM (8) ROM >
i) © Ty oS
15, fawa gn:rﬁuﬁrwu‘f LI G TN
VT TEEET
(8) waft wfirs ot
AC) wwin qfi
[[+]] ﬂ?ﬁﬁw HM‘-&@
16, 9 9y W L
b.b.bb b _bbabh
(A) agpaby 8
(©) ababb ®) abaag
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17.  Orderol the differential aquation representing
the family of parabolas y* = dax s
A 2 {B) Mot defined

{cy 3 o) 1

18.  Index numbsar of the last elemaent of an array
with § elements is
(A) 9

C) 8

By 10
o) 0

19. India’s first Bullet train will run between
(A) Gandhinagar to Mumbai

(8) Ahmedabad to Mumbai

(C) Delhi to Mumbai

(D) Surat to Mumbai

Anil introduce Aohit as the “son of the only
brother of his father's wite”. How is Rohit
related to Anil 7
(A) Cousin
(C) Uncle

(B) Son
(D) Brother
21, Which of the following decides the eastem
boundary of Haryana by separating it from
Uttar Pradesh ?

(4) Ganga

(B} Yamuna

(C) Ghaggar Hakra

(D) Chandigarh

This district of Haryana is having least
amount of forest in terms of area

(A) Rewari (B) Fatehabad
(C) Gurugram (0} Jind

Owerloaded lunctions are
Eg{ ,,la,o"g :unctims which cannet run
ne function containi
function in it aining another
(C) Two or more functions wi
ith
name, type and arguments, | o
(D) Twoor more fy with same

NClons
bt Eﬁﬂemm name
e number of parametars or

L

——

e

PTLLLLED
. Arrange the follow wit
2 7. National 1nut|1:tg..,'fh "eir bage
Solar Energy 8 Gurugram

2. Paja Ramanna Cantra & |

————y

Y= w2

17, ARGy = dax i gftam w1 FaTe e
i w FA R

18, o et T gy ¥ 3if 7 gEElE
e b
A) 8 (8 10
C) 8 ) 0

19, WTw F geeft # &
W Arih) wehn
A rﬂm‘égd_.
(B) aTemErETE # At
(C) feeeh & gui
(D) e & gurd

20. wfra dfka w1 sfeg ek fm & ogeh &
et wd i 73 v A e ) A
smasmaEaad ?
) v (B) T
{C) =mm (D) wr§

21. FoRfmiadR-m e A R 3
e w0 g vk gl e P w7
(A) T
AB) W
(C) W EFT
(0) wErmg

22. #a%a ) gfe | wfwrn = aed w9 aen #§
reraren faen &
(A) tardt {B) wdgETE
(C) 7= (D) fftz

23, afinnfea s R

(A) & FFE A T T W

(B) ' T for Zmn s g ¥

(C) waH 7, FER N 7= & wa a
iR

D) AR T A R ot o vaw f
e & Ty 2 1 s S
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g4, Arrange the following v

1. National Institute vl:ﬂ'I b base ;
Solar Energy 8 Gurugram
2. Raja Ramanna Cenyrg b
for advance technology Indore
3. National Dairy 4
Research Institytg ~ °* amal
4. National Bureay gf
Plant Genatic 9. New Deli
Resources
Select the correct apii J
(A) 1-a E—I:np ? EWT below :
@ 1-a 2-p 3_ 3¢
C) 1-a 2-d 3_y qhﬂ
(D) None of the above 1

A capacitor filled wiyk : )
of pormitivly "< 21 1sgdlSecte
charge acquired during a time interval
=3 minutes. Assumi erval

mingthacharge

through the dielectric material, lhn}?::;m
is {{;hatgsc decay takes place according 10
q= qc_&"f and hatf time T, =0.693 RC)

(A) 1.39 = 10" Om (B) 25 10" im
(C) 139 =10 0Om (D) 25 %10 Om

m h‘-'i'ﬂﬁ HMmEiDr rabellion against

rangzeb, ihe Mughal Emperor, accurmed

in Narnaul and surrounding localities in tha

year 1672, which was led by Sadh paople.

{A) Sikh revolt (B) Sepoy mutiny

(C) Satnamirevolt (D) Neneof the above
is the world's oldest stil-functional

1855 — built steam locomotive.

{A) Kalka Shimia train

(B) Fairy Queen

(C) Palace of wheels

(D) None of these _ "

The Jejaka bhukii was the "Sa'mu ' ;ﬂm

(A) Alanabad (O Lol

() Bundelkhand  (0) "1 & liquid

The forces acting on & ,?;32 i

placed on a horizont®! E:u ansion

(A) Force due to sur®

(B) Force due 0

4€) Both (A)and

(D) Force due 10

3/2018 (8)

o0, Frcfirfres T 3 ST SEET wafer
#fg : J
1. dh Fl dewR o TEH
2. T THOOT I b. TR
wwfre

3. T Bl FFEH —c. A
o oo o SRR o, 76 Rech

A =

i i et e g
A) 1-a 2-c 3-b 4-d

B) 1-a 2-b 3-c 4-d~
{C) 1-a 2-d 3-b 4-c¢
(D) ¥ # & wrf Tl
Pregaefter e = 2.1 % T argfae & ok
wfea w @ 3 T sfaoe « = 3 E
v 1ifi 2 T wE @ 2w ) 9w

ik sarrn e arogferer wand A e oo
S?uf?rfﬂmnﬂ
(smim wifd q = e~ & wgan ol R ol
anf @94 T, = 0693 RC )
(A) 1.39x 10" m (B) 2.5x 10" (im
(€) 139x 10 Om (D) 25x 10 Qm

—ad 172t e ol sre - & A

A e arme aiiora & feg g fige
w1, o e wg @it g &)
An) o fage 18) fermh e
(€) weemdftfae  (0) s @i
orem w5 wreftaem andh oft
£ wh g e i
j::l e e 9
) Wl wm

(C) Yo ¥iw =g
(D) v & wrf
WEeR__ w yomama
#lA) ST (B)
Lﬂlﬂﬁ:ux ) wER
oE e

e b T oz,
A g A & wmn am
(B) T i wrw W

(C) (a) s (B) Bt
(D) ¥R ¥ ww am

/
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30. Theee married couples are to be seated In | - 90, 1 Frenfin querl @) ww fusdsn wfer o
a row having six seats in a Cinema Hall 0 4fte o s ifi i gran B i 2y el
Find the number of ways of thair seating I W0t e et aft o) arfivon o wh o
all the ladies sit together. s b |
(©) 144 (D) None of these (C) 144 () wil @ wrf
' : L. J'i:f r"1|:‘T
31, The process of bringing a wikd species under | 31, armel srarrfoy a0 spia daivees o it
MI'I':I-: mmng-mm‘q:tn?s rogrrad 1o as o whan e B
(A} Acchmatisation :3; 3{33""“ ' 3
(B) Introduction €} vite] wAT1
{C) Domestication D) i @ wd Al
(DY MNone of these l: ' I I
:i'i -\!’-“”F L |

32, v sgevr Ak ad

32. The highway research board was set up In
the year ' = (A} 1973 AB) 195-3
(A) 1973 (B 1 D) 194
(C) 1963 D) 1947 (C) 1963 :
T E F1 i 1I1L ;
33, CPU of smalles! single user compuler i 33w fﬂﬁﬂ*{;{:i{mﬁ L
(A} Micro-processor ::; 'ﬂ'rﬁq‘l!ﬂ_
(B} Mini-processor
(C) Nano-processor :g: ;ﬁ;’-ftﬁm
(D) Parsonal procassor
34, Recently P.M. Narendra Modi inaugurated | 34, el i f 5z 51t 3 syew # WA F wEE o
India’s longest bridge in Assam, it's named 1 :g:rzj o g ATEERE
eoad - iﬂfl'fﬂ“ ™™ |
(A) Mohammad Rafi A e o
(B! Manna Dey (B) T
{C) Kishore Kumar () frrin Fm
(D) Bhupen Hazarika () “ﬂ’l e el
35. Choose the pair of words that shows 35, e F “"?hﬂ'l e A Haiy %
the same relationship as given pair ; ) q T SEEEIn :
Scalp : Hair, W = ;A
(A) Homa : Cattle (A) =T :qﬂ.
(B) Nail : Nailpolish (B) e : Feaitern
(C) Grass : Earth {C) o : und
(D) Fur:Cap (0) W : 2
! 1
3 A= r, ' . i
_,qu,_lhenﬁ. +A’ @ ﬂﬁﬁ=—_3}A?+l=
o \'IE - '.'IE A?
A 4/30 B) 22
© 1 Ilfi:illllI None of thes ") 430 (B) 22
g .
B«
Mar) - Xy 1
Q df fe e\ A
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m]cgm ! not ﬁnﬁaﬁﬂﬂﬁﬂﬁ‘m“ﬂww” |
08t - Kjgje Correctly | a7 e
Ig] Horse . FDII:;E (A) ﬂﬂ-!ﬂfﬁ w1 Tl
(©) BogeD” Lamby (8) -l =T
Euﬁllu . F“"ﬂ':'in () ﬂ‘g-'ﬂ'ﬂ':'l ] TAH
38. Famous fon ol - o) ﬂ“'ﬁ?ﬂf’m
”: '_"—'--—jil:'larur Uarh wag o | 38. iz % wfirg fiFet w1 AT 1861 i
{B} Maharajg ”ﬂlﬁnmn&ﬁ- . o =T o T |
(B) Maharaja pm, ) S"_'Hih (A) T A fam
C) Maharaja Ranjith ST o (B) wETT WEE fére
(D) MNone of the ghgy, "o (c) wwrn dfia fire
%0 _ e (0) TwH @ wrf 7
! ﬂanaudgr the view of .
\r:llarl_.r civilization ang oM about Ingus | 39, Frmt ¥ firy A Ea Eﬁww’ it farm
the following ig ney CorTectly el one of # gﬁu: freferfiaa 2 @ ®a-a ot
(A) Gorden Chilge The iched 7 gitfera Tt & 7
Inchus e ] (a) iz ey - fay ard % dn
{(B) R.D. Banari h‘&-l"nuﬁﬁ-,ragg Hﬁf{'ﬂ?!ﬁlrﬁ!
s nanea - The peopla of =d1€r
Ing
c u,;.:.:,::::’ T (B) wm.#. wadfi — fingwdt & wm
(C) Dr. Guha = Tha Indus people Er g
onged to mixed € #am  ~ g e R
(D) John Marshal - The Indus peopla warTfd % 4
belonged to (D) WRwmmm  — iy s e
Mangolian race 913% i
40. One of the new age transport systems | 4p, uftaws ymfrgt
called Pod Taxi is proposed in India, it's a gmﬁ"ﬁﬁfﬁ i i &mﬁ H UF, Gy
{A) Cab poo::ing u:.ra1a:'n;;.- uy:ﬂTa:r:rr:st Y B, 7 o
(B) It's a Personal Rapi ' (A} §F %1 s a0 w5 yfen yorrefh
system (PRT) _ (B) % vk dpide Yy (PR 3.!
{C) Driverless maglev train (C) meverafien fvda temmay M
(D) Heloopter service for essental senices (D) seeees danait ¥y ey vy
41, T
41, Complete the anaiogil. . oo |AREE : 7 TU .
A D (@) TOUASED W TOVASED (6) Jou e 71O
(A) TQV TQVARED (c JASED |
©) Tavageo @ el w ) TQVAQED (D) TQvamep
. ¥...008 - CO81° cos 2° cos 3°... :
42. Thevalue of 0081 cos 27 006 " .1'35 cos 3°....co8 179 w1
w ], . o
1'5 {D] -1 (€ o tn? -1
€ o i
(a5 -
' 9
e9 -
P | -F; F |
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43.  Amrita Pritam was honoured by Bharatiya
Jnanpith award for her literary work

(A) Rasidi Ticket
(B) Pinjar

(C) Sunshada

(D) Kagaz Te Kanvas

Which one of the following is not a feafur®
of Marxist parspective on state 7

{A) State is an instrument of exploitation
(B) State is temporary

(C) Classes never abolished

(D) State is Universal

ngh and

ru Gobind Si
Rana Nimantrana, Gu amous

Yuddha Charita are the works of !
Haryanvi poet

(A) Uday Bhanu Hans

{B) Khushiram Sharma

(C) Ayedhya Prasad Goyaliya

(D) Tulsiram Sharma Dinesh

45.

Salect the word which is least like other
words in the group.

{A) Lake

(C) Wind

46.
(B) River
(D) Current

Corversa of the statement I x i y=3 .2
then 2x = 3y is

(Al Ifx:y=3:2then2x=3y

(B) F2x=3ythenx:y=3:2

(C) Wex=3ythenx:ywd:2

(D) None of these

47.

48. Which Section deals with dowry death ?
{A) 498-A of IPC
(B) 489-A of IPC
(C) 304-Bof IPC
(D) 304-Acof IPC

49, Sc_a! of parallel printed lines with differant
thickness of black and white characters jg

(A} White cods (B) Magnetic code

(C) Color coda (D) Barcode

-8-

o
Y.
(A) Sarins Mg

43.

46,

47.

49,

mmaﬁm#ﬁﬁ'ﬁ?ﬁf ¢
%mmmgﬂmﬂﬂmﬁiﬁ

T ‘

(a) i fewe

(B) ?ﬁ?&

(C) ' 1

D) =rra A dmare ,t
Frafirfora i & o -1 O T T AT
gfwm ) u farom € & 7 3
(A) T i 1 O ST 8

{B) = sl #

(C) =i =t =t et

(D) =g & &

o Feis, 1 witfire fire 3t 3@ =fa Sl
wftre feamor #fa #1281 _
(A) TG W B

(8) wyaftos st

(C) wwaea ware wirafemn

(D) gerdrm wai B

% a2 g W wqp d o e @ wd
firm

() #a (8) T

(C) &= (D) 4
FEFIE: W x:y=3: 27

2::;,%# ;
(A) N:y:ﬂ:??ﬂ.‘?x:ﬂy |
B) TR 2x=3yMx:y=3:2 %g%’
(C) T oxzayMx:y=2:2

(D) T & ;gi'- .
24w @ - amn wafa # 7 ai
(A) IPCHl498-A ! ﬂr!
(B) IPcﬂwg-ﬁé ?5'5 !
(C) IPC %1 304- i
(D) IPCHi304-A Tf;’} 3

mam?ﬁﬁ%ﬁiﬁiﬁwﬁmﬁﬂ"
FHTR @ F

EE, e #E (B) Tl HE

(c) FR®E  (0) M
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54. In CPU,

instruction 1o be ex T,mw. I"" 12 the next

(A) Instruction register

(B) Program counter

(C) Memory bufter register

(D) Accumulator

Who is the current director of Haryana

Punjabi Sahitya Academy 7

(A) Gurvinder Singh

(B) Rakesh Sinha

(C) Narinder Singh Virk

(D) Ashwani Kumar

in the series ofilﬂltﬂr

followed, Determ ne the

MrcruaanerHMﬂwD?Nngm“
(B

A) Y

EC': A {F}} szn prime

The probability of qnﬂll'ﬂ - i

when a die is rolled s

(B

55.

a definite rule is
letters.

)
©)

o= -

(c

@| = &M

-

B1.

57,

2/2018 (5)
3.1
—r 8L wh w1}
B Wa‘_h
(A) “'Th o) o wh
rf' FiL .
g'; gy @ i = J—
1r-1rnr|i| .
() ’Hﬂ'lﬁm B) :E'J_’ 4
(D) ¥
© i i
(0 10 @R vE Tl 3 ferrz A1 o 2 o
wdm e’ -
() 1207 gy 12%°
] 115 ]} 5
fan wn, W i prrardy gepen = 1—
rfam) gt t{i’.f-’* #) AL ) 1
LK - e
j2° 13 0 99 4l (J:.\_
1B 0 fii) (iiy {rv)
A} 135 e 115
(C) 180 o) 72 |
17, L .'-1 =y ,51'"7#7“"’!
F 1 oA EA "31?""? e %
(a) ke et &
(B) VTR T "E-f.g
C) Wﬂw:"fj]:_j 1"_\ ,‘!‘!
(D) TERETEE . ?

(&) T .
(8) wEn fo=m
(C) At firg o
(D) sodt g=w
ﬁmi"mﬂmﬁﬁaﬂm-ﬂ

rer T B mﬁ _‘%
AJKTUBILSVCHMAWRGNGX 7c
(A) ¥Z L:fnﬁj PY E

C) za D) PZ
O A T e i e R
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(©) —; © E

L
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58. Recently, Chief Minister of Haryana has

approved signing of agreement for
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88. Recently, Chief Minister of Haryana has | gg, e # i, whramm # el & LI e
approved signing of agreement for mqmi!mﬂwﬁnqr_?mﬁw!il
would add new storage capacities on two m&ﬁmwﬁﬂﬂ#mm
tributaries of river Yamuna. A&
(A) Indira Ganghi dam (a) ¥f et arf
(B) Bakhra dam (B) wrErgl '_*:}:4,' LU
(C) Kishau and Renuka dam (c) fams qi':; T
(D) Anangpur dam (D) ¥ATH |
so. 2011 SR H IR TE T TR
59. The states which have highest Density of e e At @
Population according to 2011 census aré (A) i ol I T
(A) Kerala and Uttar Pradesh (B) faem aiw afram el
(B) Bihar and West Bengal (c) farm o ﬁ.’r‘w?ﬁ_
(C) Bihar and Delhi I o) faem afr I W
(D) Bihar and Uttar Prade
: s Farr ) s FfTu)
80. Select the significance ol mewsis. l 60. $rj g ﬁr‘q&ﬂ —
(A) It helps in growth of multicellular i el
B ?gma:n ismsﬂa" repair (B) W Fifi il TOHA 1 werTm w8
ha n : . i .
H It mF:nTams the same number of (C) T T % Tt 1 g wafd
chromosomes in daughter cells as of o & HTE{T‘HH Hﬂ?ﬂ;
parent cell fafa w1l
(D) 1t creates variation (D} WE grwa h L.
&1, is a structure builtin Chandigarh | 61. wférg AT, Tt
by legendary architect, Le Corbusler. aEg & a=rdt Tt O ETE
(&) Closa hand monument (A) T THE THAH
{B) Open hand monument (B) T FE
(C) Right hand monument (€) mm Lalied
(D) Left hand monument (D) B .
62. Before Independence, The high court of | 82. T wd, g afn Jem 3| s
Haryana and Punjab was situated at 4 fEman
(A) Amritsar (B) Rawalpindi (A) g (8) TEEfEE
(C) Peshawar (D) Lahore (C) TR (D) =R
63, Who was the first speakerof the Lok Sabha ? |  63.  SiiaF 1 SuW i 1 o 7
(A) Neelam Sanjiva Reddy - (a) e wafra
(B) M. A. Ayyangar (B) TH.T, {¥A
(C) Ganesh Vasudev Mavalankar {C) T AR WA
64. Geographically Haryana contains g4, ivitfers & A g § feaarre
legislative assembly conslituencies. et )
(a) 14 (B) 10 (A) 14 (B) 10
i ©) 9 (© 70 (0) 90
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A i‘ k '::P ;ff: 5
(B) Atjq o) Metric AR ot A frcgn w8,
B |~ 65.
©) Nong o i l (@) A focen s &
1 o A=0
66. 7. o h"‘) (C)
{n;ncmlwaa——-.__ d i wed B
A Hﬁlﬂﬁmal T%ﬁh s 7 ol it F . |
) Casting ®) Conditiong (a) fETEe (8) FEEA
67. Ba e ©) Logic () ®fen (D) Ao
A Moral A Gtz feren )
:B:; gﬂnl.urn Chandrg c"hﬂ;:mﬂwhr &7 iﬁiﬁﬂ wWgTH LU
abindranath T Opadhyay a) afiem w2 TR
(C) Hassan Mumm!ﬂwn (8) T 2
(D) Muham (C) ¥&d
68. Wh e N (D) o= YA,
. 2 II:h P[ the I'Dll_owing does not belo ﬁnﬁﬁlﬁ]ﬂﬁﬂﬂh-mmﬁmﬁ A
© 'Sapta Sindhy' or ng| 68 M= gt 2
mentioned in Rigveda 7 | - " fivers fiyyy m wva Afea & 1 S et
o) b () Chenab (W A i) 532
*Mfctin "";“dﬂ (D) Jhelum (c) wrm Q) ¥em 7
: ng Centre situg i i fe L
district 1n & gy tn_!dlnhhnu.pmun 69. m,mmnﬁuﬁmh.ﬁm
breeding of Bt v o, Vo o gl
(A) Blue pealowls (B) Chinkara TARE G B i8) farmm
(C) Pheasants (D) Indian vulture (C) ifm (D) vt firg
70. The Federal system with strong Central | 70, fiasmeft %2 mrem & W wira gomeh
Government has been borrowed from —1. 1]
(A) France (B) England (A) W@ B) v
(C) Canada (D) USA (€) w=mm (0) qwm
71. Hybrid computers are used 1o 7. wefire P W wm il ]
(A) Convert the analog signals to digital (A) 3@ #73 ¥ forg vArEtn wka w5
(8) Control air traffic and radar i 'h“”'““m‘ﬂ EOEEHES
(C) Work on binary digits (C) faamntr st w wrd w3 i
(D) None of the above (D) % # & #rf 7
: orid Cup 2018, | 72. WA 3 iffefieft sien 19 e wm
72 lnaa “".’M’fﬁ ok um“ India and wfim e v s ¥ hzg;:l :T
tf:l I;:gm”d (B) South Alnca (A) verg (8) = tfpw
':C: New Zealand (D) Australia (C) et (0) Hfefern
73, What is related to Takel "“q" et ::r-ﬂT T O L <t
I '
" 38 'Lira* is related 10 'w;.;f (O () wtéa ®) whm
(A) Jordan :D}I Mexico (C) Wremen (D) fdrs
(C) Bangladesh A1 L
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T4, “I=3‘11I'IQ"‘II'-2T‘ = =1
then abe = and v
(&) 11 (8 a7
Gy —
(C) = © o
75. Initiation of milk secretion is called

(A) Lactogenesis
(B) Galactogenesis
(C) Galactopiosis
(D) Mone of these

According to Vayu Purana, which of the
following place is believed as the birth place
of Lord Hanuman 7

(A) Karnal (B) Hisar

(C) Kurukshetra (D) Kaithal

77. Consider the following about Rousseau's
General will and choose the correct

T6.

statements.
I. General will is the expression of inner
will.
ii. General will is infalliable.
fii. Itis the best will of the individual.
iv. General will is impersonal.
(A) i, il and iv (B) iand ii only
(C) fandiv (D) all the above
deals with the synthesis of
pyrrole derivatives by the reaction of
[-keto-esters with a- chloroketones in the
presence of ammonia or primary amine,
{A) Paal-Knorr synthesis
(B) Knorr pyrrole synthesis
(C) Hantzschpyrrole synthesis
(D) Madelung synthesis

It 1}’%20 then

(A) x22

B) x=>2

C) —-2sxs<2

D) xz20rxs-2
The criteria of essentiality of nutrient
elemants wera given by
{A) Nicholas

(B) Amon
(C) Parker

78.

(D) Arnon and Stout

- =

12~
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ahc""lbﬂfr ol -..-Jl hnm
(oo

T4, 'ﬂﬁ':‘.ﬂa','l_.r=_9“'_za_g?i aﬂ'{l“lp-

iﬁﬂhﬁlr
(A) 1 (8) 27
© 3 ® 0
75, E’ﬂ'miﬁtm T
(A) Hwrafaw LA
(B) MerwErRAfw ST
() Nt o8
- Fﬁﬂﬁ#ﬁﬁnﬁﬁhﬂﬁﬂm
\ # AN,
m gﬁ%wﬂﬂw“
(A) T B) firmm
(C) FHE 0) ¥
77. wa € w v % A Frefafem
foram it 30 WA HGHA T |
| e e ey A iR
i, AT e e R
il ﬂﬁﬂﬁﬁ'ﬁmmtl
iy, T g srdrafRe @ :
(A) i, il 3T v (8) Fa= i
(Cy i 9T v (D) I Al
78. pR-t o e
arfta 1 Fuftufa d el &
sffarn & argirer speg= w1 wyerm B
(A) -1 e
(8) i werTm
(C) gt weaw
(D) B wvemor
79. ‘lﬁI%'—glau,?h
AA) x=z2
B) x>2
{C) -2=zxs2 "y 78 !
0) xz2a;xg-2 R
80. TrTETEIF s F
o .
() Frerem
(B) wiHa- o
(C) W~ - v
(0) A 3w \
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31.  The “Indi
fom oMl Code® camg into force
2 A) 6 October 1880
! 8 a
1 September 1
(D) None of the rab:;:

B2. First super-computer of Indla ig

(A) CRAY3 B) HIT
AC S.300
(C) PARAM (0) ARYABMATA

83. Most sites of the Matur
Civilisation aka Indus Valley Elu'll-l::;lﬁn“n
actually found along the bed of tha ™
(A) Ganga rivar
(B) Yamuna river o
(C) Ghaggar Hakra river 1""%
(O) Bias river AT
84. In CE configuration, if the voltage drop
across 5 k) resistor connected in the
collector circuit is 5 V. Find the value of I,

when [} = 50.
(&) 0.01mA _{B) 025maA
(C) 0.03 mA (D) 0.02 maA
BS. is the most widely spoken dialect of
Haryanvi,
(A) Bagri (8) Bangaru
(C) Ahirvati (D) Khariboli

88. In an examination there are 3 multiple
choice questions and each question has 4
choices, Number of ways in which a student
can fail to get all answer correct is

(A) 1 (B) 12
(C) 27 D) 83
87. Modern computer keyboard generally
contains .
(A} 104 B) 53
€ 28 (D) Al of the above
88. Highest magnetite ore available in India is
(A) Orissa
(B) Chhattisgarh

(D) None of the above

3/2018 (5)
g1, wRdaEsERE_____ A EmLE

1 1882 |
;:g;1 1873
(o) 3w i @ w7l

e T T g e B
82 A CRAY3 (8) HITAC 8-300

(C) T AP
ofters wgerd g wn fag o wwmm
8 RemaEm % (o) w ¥
wra-gma g ¥
(A) bk |
@" () T

.S () W wwn

(o) = T

s, CE famuma &, aft 5 kq wfeOuw H ateew
firorre 5 v & =t i wumes aftow A b, @
f = 50 FF 9| %1 T T *

(A) 0.01 mA (B) 0.25 mA
(C) 0.03mA (D) 0.02mA

8s. it o) waifiys aref arevared
(A) (B) wITH
(C) wérard D) et

86. o it ¥ i whirs Ry v o & ok
el T 3 T P R 8, P e 2 o
o anft 3w e i v 8 e b
() 11 ®) 12
(C) 27 (D) 63

87.  smyfie s fard i A
ol gt )
(A) 104 (B) 53
(C) 28 (D) % ot

88. W@ # Ferawm frTrez IR i
Iy )
(A) 3@
© wies s
) .
(0) 3w i & w7l @ 7>
- 11"'.!-1 . T - i -
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English Language
Mﬂm#ﬂuwumwm

(A) Who do you think she is 7 ol
(B} Each of the stholars has done i
{C) MNeither ol them was imited 10

party
(D} | was the man whom they though! 0) =g s
was dead L
9. (A call a8 she 96. T fyvem war B
. (A) |am as tall as she is A ‘
(B) |swim better than him (A) =R | =
AC) He gave me an advice S (C) D) =
ND) Between you and me affairs lo0% dar
Salmmacorrecmmuonlwmmnmadwardiﬂ | 97, ZWATEITAT I w Y
the following sentances : } (A) = % fore A
91. They meet regularly at gach other’s house. (B) = it wwrfaA 3 B
{A) distributive pronoun (C) W=
(B) indefinite pronoun o
(C) demonstrative pronoun (D) a
© mo [ e e F Y Y
98. ;
Mone of his friends have came forward 1o
% hephim. | (a) frm
{A) Indefinite pronoun ®) B
{B) Interrogative pronoun
(C) Distributive pronoun (C) 31511?1
(D) Demonstrative pronoun (D) wH™
Select compound sentence from the following : %. - afis ez b
93. (A) |toid him that he would be promoted (A) ¥F + I (B) o + T
(B) When the siren sounded, all traffic . o) s+ T
came 10 a stop (C) Weg® +
(C) He is a scientist and a philosopher too wit
(D) Smoking is bad for health 100. TR TA e & !Fm“m
C1|
94. (A) You can go by bus or by train (A) TR TG T i
(B) |shall do as | like 8 @ 0 ard
(C) When we went there we found that he ©) mﬂa‘lmmﬁl
had gone |
(D) The annual sports wil be held tomormow {0 m T4 @
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